D 3x2+3xy+y> @ 3x2+6xy+y2 @ 9x? 4 3xy +y?

@D)Qx2 +6xy+y> @ 9x2 + 9xy + 2

(Bx+y)? = (3x)2 +2x3xxy+y?
= 9x2 + 6xy + y?




o2 5 (—x—y)? I £A

@ (x+y)?

@ x2 4 2xy +y2

B

(_x_Y)Q =x? +2xy+y2

©) —(x+y)2 = _(x2 +2xy+y2) — 2 _2xy_y2

@ {—(X—y)}2 S (—x+y)2 = x2 _2xy+y2




3. x*-7x-8 & QA5E5H?

O @+1)E+8) @ (x-1)x-8) @r+1)(x-8)
@ (x—1)(x+38) ® (x—2)(x—4)

‘ ¥ -Tx-8=(x+1)(x-28)




4. 8x%—10xy - 12y? & AFESHS o, I A& I 2HAH?

D x-vy @ x+2y ® 2x+4y
@ 4x -3y ®)4x + 3y

8x2 — 10xy — 12y* = 2 (4x% — 5xy — 6)?)
=2 (x—2y) (4x + 3y)




5.  (2a-b)(2a+b) - (a+3b)(a—-3b) = pa®+ gb* °I|A &

p+q 9 27

@ 3 @ 4 ®9

(@)11

+poqg9

® 12

B

(2a)* - b - {a® + (3b)?}
= 4a® - b — a® + 9b?

= 3a” + 8b?

T p+g=3+8=11




9x2 + Axy +16)” = (Bx + Cy)* & 1), o8 TEoH= Al A5
A, B, C 9| &g F59?

O 28 @ 29 ® 30 @31 ® 32

B ,

(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 9x2 + Axy + 16y?

B>=9, . B=3

C?=16, .C=4

A=2BC =2x3x4=24

L A+B+C=24+3+4=231




8l+x*=x*-81=x*-92=(x+9)(x-9)




@® —6ax — 2bx = —6x(a + 2b)

@ ax®*+ay=a(x+y)

@ a(x+y)-b(x+y)=(x+y) —ab

@)-1 + 1692 = —4(x + 29)(x - 2)

® x(2a-b) +2y(2a - b) —z(2a - b) = (2a - b)(x - 2y) — z

B

@® —2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2)




9.  3x*+ (3a+16)x -6 1ol SHA (x+b)(3x—2) 7F Hrf. o] o,
A a+b o 22

@ -3 @ -1 @0 @ 2 ® 3

B ~
(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2

3x% + (=2 +3b)x — 2b = 3x* + (3a + 16)x — 6

—2b=-6, .b=3

-2+3b=3a+16, ..a=-3

La+b=0




10.

x? = 2x—y? + 2y B JAFESfSAHY
(x+ay)(x—=by +c) 7F E1Ath ot a + b + ¢ 9] 222

a-2x-y?+2y=x2 -y -2(x-y)
= (x+y)(x-y) - 2(x-)
= (x-yx+y-2)
Ot a=-1,b=-1, c=-29B2 g+ b+c=—-4




11.

oh& TRNA 12 2aem , A acm Q) AR gl TRt 2ol
lem 7H29) Wl REo| 9hg 1) A R Yol Artelr

@ a®>-3a-1 (cm?)
(@)2(12 -3a+1 (cm?)
® 24 -1 (cm?)

_--2acm- - _

/L

lem

@ 24d®> -3a-1 (cm?)

@ a®+3a-1 (cm?)

S =(2a-1)(a-1)
=2a°-3a+1




12. T A x%+ax—6 3 3x%-5x+b 2 35U AF7F(x-2) W, a+b
o] k27

@ -2 @—1 ® 0 @ 1 ® 2

B \
(i) X®4+ax—-6=(x-2)(x+a)
=x%+ (@ —2) x - 2a A
a-2=a, 2a=-6
a=3, a=a-2=1
(ii) 3x2—5x+b = (x-2)(3x+p)
=3x2 + (B-6)x - 28 oA
B-6=-5 =1
b=-28=-2
La+b=1+4(-2)=-1




13. (a-b)m* + (b—a)n* & JA5EoH5HH?

© (@t+b)mtnm-n)  @a-b)m+n)n-n)
® (a=b)m+n)’ @ (a=b)(m* +12)
® (a=b)(m-n)’

(a=b)ym? + (b —a)n? = (a-b)(m? - n?)
=(a-b)(m+n)(m—n)




14. (x+y)(x+y—1)-20 & H2A A¢Eafg A2

@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y-5)(x—y+4)

B

x+y=A 2l s}
(x4+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
= (A-5)(A+4)
= (x+y-5)(x+y+4)




15. X% —dxy +4y? +2x -4y - 15 & A5-Eo|stA?

@® (x—2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x—2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

(@)(x—2y—3)(x—2y+5)

B

(x® —dxy +4y?) + 2x -4y - 15
=(x-2)%4+2(x-2y)-15
=A%2+24A-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)




a® —a?b+ ab® + ac® — b3 — bc?

16.

na-b=0,a=>b%l o5




17, 2(4+2) (42 +22) (44 +2%) (48 +2%) =49 - 224 off, 5 q, b 9]
Sa+ b F2?

@® 2 @ 4 ® 16 @32 ® 64

B ~

2=4-20|B=2

(4-2)(4+2)(42 +22) (4% + 24)(4° + 29)
= (42 - 22)(42 + 22)(4% + 24)(4® + 28)

= (41— 21)(4% 4 24)(48 + 28)

= (@ -B)e +22)

— 416 _ 916

La+b=16+16 = 32




18. x off THE O]AFA1S 24 4 5 2 LHFT o] 3y 4 4 o] 2, YA 1

@D 3x2+12x+1 @ 3x2+12x+11
® 6x% +23x+20 @ 6x2 4 27x+ 20

@ 6x2 + 23x + 21

X (%) + (HHA]) o] B2
(3x+4)+1 =6x2+23x+21




19. (x-2)x*-3(x-2)x-10(x-2) & IFEdl5tA?

@) (x-2)(x-5) (x+2) @ (x-2) (x+5) (x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)

B

A=x-2 2 A5
(x=2)x>=-3(x=2)x-10(x-2)
= Ax? - 3Ax - 10A

= A(x® - 3x - 10)
=A(x-5)(x+2)
=(x-2)(x=5)(x+2)




x=34+V8,y=3- V8L, (x+y)2-(x-y)? 9 FeUL,

® 1 @ 2 @3 @ ® 5

(6" 5% = (x" = y")?

= (@ 4y + 2 -y (& + Y - 5"+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3-V8) =1

S Axy)t =4




